
1 https://jpw-catalog-qa-b2c-2.corevist.cloud/slr12-laser-assembly
7/4/25

SLR12 Laser Assembly

https://jpw-catalog-qa-b2c-2.corevist.cloud/slr12-laser-assembly


2 https://jpw-catalog-qa-b2c-2.corevist.cloud/slr12-laser-assembly
7/4/25

Product Images

Description

Index
Number Part Number Description Size Qty

https://jpw-catalog-qa-b2c-2.corevist.cloud/slr12-laser-assembly


3 https://jpw-catalog-qa-b2c-2.corevist.cloud/slr12-laser-assembly
7/4/25

 SLR12-700 Laser Assembly (Items 1 thru 18)   

1 TS-1503081 Socket Head Cap Screw M6 x 35 2

2 SLR12-701 Clamp Seat  2

3 SLR12-702 Laser  1

4 SLR12-703 Adjustment Bracket  1

5 TS-1502041 Socket Head Cap Screw M5 x 16 4

6 SLR12-704 Bracket  1

7 TS-1501021 Socket Head Cap Screw M4 x 8 4

8 TS-1550021 Flat Washer M4 2

9 SLR12-705 Mounting Bracket  1

10 SLR12-706 Cord Holder  6

11 SLR12-707 DC Power Connector (Male)  1

 SLR12-714 Transformer Assembly (Items 12 thru 18)  2

12 SLR12-708 DC Power Connector (Female)  1

13 SLR12-709 Fuse 1A 1

14 SLR12-710 Power Switch  1

15 SLR12-711 Control Box  1

16 SLR12-712 Transformer with Base Plate  1

17 TS-1531012 Philips Pan Head Machine Screw M3 x 6 4

18 SLR12-713 Power Cord  1

19 TS-1504041 Socket Head Cap Screw M8 x 20 4

20 TS-1550061 Flat Washer M8 4

21 TS-2361081 Lock Washer M8 4

Additional Information

Stock Number 1791285-4

Products in this set

https://jpw-catalog-qa-b2c-2.corevist.cloud/slr12-laser-assembly

